= B 5B F5KmW
W8I A(T4=9Va)

AR 8 AKX
cEEE - o R

1R18 10:00 & B

WAL T/n" - K4 (F5F) ht AT & 1 Il @@ s 3pv)
1 550 ¥ HK(Q) t749 ag4 E ¥ ) & 24:15
2 187 /B ®|mK() 2y’ v 7/t B A AES 25:59
3 7954 &K EKXK(Q) AR ¥ 47} = [l iy A = 26:26
4 1088 fFE Mk (1) by ay4 i B - =) 26:40
5 1827 E& T (2) 78FA° km)) e IR REEILE 27:26
6 1761 EFE {68 (2) Y47 a9xy = A mES 28:54
7 140 &H #FX1) heh” J9% B A —'BE A& 29:29
8 141 MAE FizH (1) e /% = A —Bl&E 29:32
9 104 @& HRLtQ@ ME B4y iy B sz B T &, 32:15
1897 =H FHI(1) A94 Yan~q g M TG DQ, K2
144 {Fig &EBk(1) AM) M9V 2 = — Bl DNS



& B 2 - 5KmW
W& A(74=9¥2)

# ¥ B .8 BHA
ihRESE - A R

1A1H 10:00 & B

B T - K4 (FE) ¥ AT B i AT g BB h A/}
1 3257 FA&K BE(1) 77Eh 243 3 fiB. - & 25:16
2 3065 BHE 72DiX(2) Ty Fin F A TS 25:30
3 4830 2K Flg(2) IEF U4 A 31 B 22 & 26:01
4 4842 o JHdEE(2) Y21 F )7 = ® BES 28:01
5 387 BRIR EHN(2) IIN'F hy s B ERNEE 28:42
6 1155 ¥ XH(Q) A%") I B M —ERE 29:32
7 4955 &% =me(3) 2° by %% A B 29: 48
8 383 kil HEE() oy 790 sz B ERMNEE 29:59
9 1071 H#H HFE(Q2) ¥ 3 B A —EBElaE 30:43
993 48 B&EQ) 1177 ®Eh F —E & DNS
1025 HrEH WR(Q2) =98 ¥7 BT A R DNS
1162 & &4« FE(2) % tEh ¥ M — Bl DNS
1219 AR EHZFEF(1) ¥YeEb vaf ¥ A EBEE DNS
4961 HE HF(Q2) A7)7 B A3In F A SHE DNS




i 52 5B F 10KmW
WBI{A(74=9¥2)

B T/ - K4 (GF45E)
1 3690 Mg BE—(2)
2 3793 BF RIE(Q2)
3 4162 Xk KZE(Q)
7362 R E(2)
650 8 EKXK(Q)

= B X F 10KmW
Wi I{h(74=9¥2)

WBOr T - K4 (R5E)
1 106 T 7>z (3)
2 3012 A WIH{E(2)
3 376 FER FZE(2)

AT

By {47

h ¥ aned
Th ¥v 44
IINT Y3y

Thyz rh

bt

/b9 hx
YhEd B0
AINR) b

A &
BB &
&
B
FE R = &
ERMES

s MR R B RS
0 &2 A A A

& i PR

B 7 5
A NIEL B &,
B

It
57
4
7 EBRINTE R

F Y BB HA
iRRIEE . A8 —8

1A18 10:40 B B

By (s 3/
51:03
51:55
54:09
DQ, K3
DNS

U E:FE BHA
R A8 —A

1A1R 10:40 & B

EIE (A /)
54:37
54 :47
59:24



— A% 5+ 10KmW
Wb (74=9V2)

B T/ - K4 (F4F)
1 619 WX £5.34)

2 5474 JE EE

3 5030 58 [REA

3-158 By HEX
6173 HP B

— & L+ 10KmW
@A (7 4=9V2)

LT T - K4 (FE)
2218 HIR HEE(3)
A0039 K1E ERKF

bt

7AED Fhto

A7) 1 g~
thye hed

% 294 4
79 k/huy

bt
/)%y £
Y49 32

AT J& 1 AT &

T A 2N

= K = EHPER

s B B~ X & —X
E A EfEE

X B K P Bz
Pt = PR

E A FEFRER
k % R (7 B b

# H E % HA
EeFE rE —8Y

1818 10:40 & B

EI@ AL 3j/)
46:35
48:18
54:09

DNS

# HE: 8B BA
kEeIET -7 —§

1A1H 10:40 & B

WAL p7b
DNF
DNS



	HS 5Men
	HS5 Women
	10km 
	10 Women

